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= 1,893,751 1,693,752 199,999
=) 74,000 74,000 0
p] 139,748 0 139,748
= 7,349,727 6,246,383 1,103,344
OgMass X 3,236,920 2,974,730 262, 190
= 309,000 309,000 0
= 2,927,920 2,665,730 262,190
olgrel elMotEAY X & 1,587,520 1,577,520 10,000
308 XXl EHH S0l & 1,584,020 1,574,020 10,000
01 HXESHZLEES 1,584,020 1,574,020 10,000
oMgss M2N L HEX 23 X 33,520 23,520 10,000
Ol& Bl IS ¥ WHAIOIY 2435 X9 1,278,600 1,026,410 252,190
403 XHXI €+ HI S X2 0| | 1,276,600 1,024,410 252,190
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007 B4 BRI AL X 228,000 168,000 60,000
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ol 139,748 0 139,748
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01 Al bl 443,000 43,000 400,000
01S HEOHE HYXNTH HF MR &S 443,000 43,000 400,000
02 Zr2lHl 11,000 0 11,000
ODE HEOE HAXNEH SF AR AF 11,000 0 11,000
03 Al& S TH Y| 3,000 0 3,000
01S HEUHE HYXNEH HF MR AE 3,000 0 3,000
ool =X X 2,833,705 2,391,552 442,153
2 690,651 490,652 199,999
= 2,143,054 1,900,900 242,154
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OMHOIAQ ATf ZorA O AE 3, 164 0 3, 164
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307 BI2+0I & 4,500 0 4,500
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307 £I2+0I & 25,000 0 25,000




SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
02 HAFHANGEEX 25,000 0 25,000
O=&FFHRl HEtsl X 25,000 0 25,000
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= 481,651 481,652 A
= 36,124 35,520 604
308 XXM SOIA 517,775 517,172 603
= 481,651 481,652 A
=) 36,124 35,520 604
01 HXHHBAEES 517,775 517,172 603
OXHECXNG =X =SHAE 517,775 517,172 603
= 481,651 481,652 A
=) 36,124 35,520 604
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= 200,000 0 200,000
< 60,000 0 60,000
403 TtXI S SA=01A 260,000 0 260,000
= 200,000 0 200,000
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